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NAME	DATE	PERIOD

[bookmark: Xdfa298519789de91e11e4e3bcedf68a0acfb1e4]Unit 1 Lesson 14: Alternate Interior Angles
[bookmark: angle-pairs-warm-up]1 Angle Pairs (Warm up)
[bookmark: student-task-statement]Student Task Statement
1. Find the measure of angle .  Explain or show your reasoning.
· [image: /app/tmp/embedder-1605892046.5721707.png]
1. Find and label a second  degree angle in the diagram. Find and label an angle congruent to angle .
[bookmark: X7c1465b2893e3b3a54c0ce1d9f5053869a6b670]2 Cutting Parallel Lines with a Transversal
[bookmark: images-for-launch]Images for Launch
[image: /app/tmp/embedder-1605892046.5946782.png]
[bookmark: student-task-statement-1]Student Task Statement
Lines  and  are parallel. They are cut by transversal .
[image: /app/tmp/embedder-1605892046.620967.png]
1. With your partner, find the seven unknown angle measures in the diagram. Explain your reasoning.
1. What do you notice about the angles with vertex  and the angles with vertex ?
1. Using what you noticed, find the measures of the four angles at point  in the second diagram. Lines  and  are parallel.
· [image: /app/tmp/embedder-1605892046.6491392.png]
1. The next diagram resembles the first one, but the lines form slightly different angles. Work with your partner to find the six unknown angles with vertices at points  and .
· [image: /app/tmp/embedder-1605892046.672633.png]
1. What do you notice about the angles in this diagram as compared to the earlier diagram? How are the two diagrams different? How are they the same?
[bookmark: alternate-interior-angles-are-congruent]3 Alternate Interior Angles Are Congruent
[bookmark: student-task-statement-2]Student Task Statement
1. Lines  and  are parallel and  is a transversal. Point  is the midpoint of segment .

· [image: /app/tmp/embedder-1605892046.695117.png]
· 
Find a rigid transformation showing that angles  and  are congruent.
1. In this picture, lines  and  are no longer parallel.  is still the midpoint of segment .
· [image: /app/tmp/embedder-1605892046.7161942.png]
· Does your argument in the earlier problem apply in this situation? Explain.
[bookmark: images-for-activity-synthesis]Images for Activity Synthesis
[image: /app/tmp/embedder-1605892046.7376714.png]
[image: /app/app/assets/images/export/ccby_logo_small.png]
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